current weight. At time ¢ = 0, when the bird is first weighed, its weight is 20 grams. If B(r) is the weight of the

bird, in grams, at time ¢ days after it is first wei :
dB _ 1
=3 =(100 - B). 3
Let y = B(¢) be the solution to the differen iomrabeve-with initial condition B(0) = 20.

Use separation of variables to find y = B(r), the particular solution to
the differential equation with initial condition B(0) = 20.
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Solving Differential Equations Task {part 2) : k
1) ' 3 ¢

The rate at which a baby bird gains weight is proportional to the difference between its adult weigh i

;96
AB= /oj)(/\




Solvé the below differential equation:

2)y’ —'xycos(xz') =0 giveny(0)=e a) Find general solution  b) Find particular solution

e ulosix*1=0 ( [

3 XJ( (X) \g“j&ﬁj = iJ‘COSU()LL
B0 | 4
fe_j_ _ ij{:os(xl)_
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Solving Differential Equations: Additional Practice Pro hlems

3)Solve the Differential Equation:  ylnx* — xy' = 0 /
“jﬂ"lx%”‘XL/:o j‘LCJ "
jheafigeo |00
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4) a) Find the general solution b} Find the particular solution

vy -2e¥=0 _y@=5 —
) I
-de” =0 :
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